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1. There are 28 children in a splash pool.
Half of the 28 children are toddlers.

How many of the children are toddlers?

2. There are 64 cars in a car park.

Half of the cars are blue.

How many of the cars are blue?

3. There are 86 trees in a park.

Half of these trees are cherry trees.

How many of the trees are cherry trees?
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4. The tutor group has 24 pets.
Half of these pets 24 are dogs.

How many of these pets are dogs?

5. The members of a senior citizens lunch club have 60 pets.

Half of these pets are cats.

How many of these pets are cats?

6. There were 86 books in a table top sale.
Half of the 86 books were sold.

How many of the books were sold?
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